Name Date

Puzzle Time

When Do Kangaroos Celebrate Their Birthdays?

A B Cc D E F G H I J K L M

Complete each exercise. Find the answer in the answer column. Write the letter

under the answer in the box containing the exercise letter.

36 Multiply. 0
G A
12 A. 50 (-12) B. —14 3 o5
o M
105 C. —10(-11) D. 8 (-7) 49
E Y
py E. -9 e (-5) F. 6(-2)(-3) “oa
P A
=0 G. —4e50e(-4) H. (-7)(-3)(-5) 20
C 5 L
L 15e0e(-12) 9 (-9)
D U
72 K. =77 L. —3* 38 100
S 3 B
45 M. (-4) 64
N F
25 N. You are making a necklace that is 9 inches long. 56
T You use 6 beads for each inch. What integer is |
the change in your supply of beads after making
-42 -110
the necklace?
U J
49 66
P S
-36 -54
H R
52 -72
w E
110 54
R K
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